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Use engineering paper.  Work only on one side of the paper.  Use this sheet as your cover sheet, placed on top of your work and stapled in the top left-hand corner.  Number the problems at the top of the page, in the center of the sheet.  Do neat work.  Underline your answers.  Show how you got your equations.  Be sure to show how you got your answers.  Each problem counts 10 points.

4.5  Problem on Linearity.    Ans:  4.5 V

4.10 (a)  Work using superposition,

(b) Work using nodal analysis.

Ans:  Vab = 6 V

4.22 Problem on source transformation.

Ans:  I = 0.555 A

4.31 Problem on source transformation.

Ans:  Vx = 3.652 V

4.34 Thevenin

Also draw the Thevenin equivalent circuit.

Also solve using pspice.  With the pspice, find the open-circuit voltage, and the short-circuit

    current.   From this deduce the Thevenin circuit.  Show your pspice diagrams that give

     the open-circuit voltage and short-circuit current.

Ans:  RTH = 28 (, VTH = on your own

4.39 Thevenin

Also draw the Thevenin equivalent circuit.

Ans:  RTH = 20 (,  VTH = -49.2 

4.43 Thevenin

Also draw the Thevenin equivalent circuit.

Ans:  RTH = 10 (, VTH = 0 V, ix (on your own)

4.46 Norton

Also draw the Norton equivalent circuit.

          Also:  (a) Find the open-circuit voltage.

                    (b) Find the short-circuit current.

          (c) From (a) and (b) determine IN and RTH.
4.51 Norton

Also draw the Norton equivalent circuit.  Work part (a) only.
Extra question:  If a short-circuit is placed across terminals a-b, what current will flow in the short-circuit?  Will the positive current be from a-b?  Explain your answer.

Ans:  IN = 7 A,   RN = 2 (
4.53    Norton

          Also draw the Norton equivalent circuit.

          Ans:  IN = 1 A,   RN = 3 (
4.59 Work by either Thevenin or Norton.  

Ans:  RT = RN = 22.5 (,  VTH = 40 V, IN = 1.778 A

